






Eg. Assume that 100 babies are born to 100 couples treated with gender selection that is 
claimed to make girls more likely. We observe 58 girls in 100 babies.  Write the hypotheses to 
test the claim the “with the XSORT method, the proportion of girls is greater than the 50% that 
occurs without any treatment”.

Eg. Now we consider the claim that the gender selection increases the likelihood of having a 
baby girl. Preliminary results from a test of gender selection involved 100 couples who gave 
birth to 58 girls and 42 boys. Use the given claim and the preliminary results to calculate the 
test statistic. 

Eg. Based on information from the National Cyber Security Alliance, 93% of computer 
owners believe they have antivirus programs installed on their computers. In a random 
sample of 400 scanned computers, it is found that 380 of them actually have antivirus 
software programs. Use the sample data from the scanned computers to test the claim 
that 93% of computers have antivirus software.



Eg. In recent years, there has been increasing concern about the health effects of computer 
terminals.  It is known that the miscarriage rate under general conditions is about 20%.  A 
random sample of 650 pregnant women working with a computer 1 to 20 hours per week 
was taken.  For this sample, there were 155 miscarriages.  Test the claim that computer 
terminals detrimentally affect pregnant women with a 0.02 significance level.



Eg. a. Claim: The proportion of people who have smoked once is less than 0.6.
H0:
H1:

b. Claim: The proportion of people who have smoked once is exactly 0.6.
H0:
H1:

c. Claim: The proportion of people who have smoked once is at least 0.6.
H0:



H0:
H1:


